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Lesson 22-1 Homework

1. Use the Product Property of Radicals, the Quotient Property of Radicals, or both to simplify the
expression.

+V96

Solve each equation. Give the answer in radical form, and then use a calculator to approximate the
solution to two decimal places, if necessary.

2. 5x2—21=39
3. 6x%—21=33
4, 5—2x%>=-3

5. 7x>+10 =18
6. 5(x—9)2=15
7. (x+15)? =81
8. 3(x+1)2=27

9. (x—12)* =54
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Lesson 22-2 Homework

Complete the square to form a perfect-square trinomial.

1. x%+26x
2. x%—18x
3. x%—2x

4. x%—24x

Solve each equation by completing the square.

5. x248x =33
6. x> —6x=38

7. x> +12x =5
8. x%—14x =95

9. %xz +4x =10

10. %xz —5x =18
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Lesson 22-3 Homework

Determine how many real solutions each quadratic equation has.

1. 4x*+4x+1=0
2. x*—x+3=0
3. x2—-8x—-9=0
Solve using the quadratic formula. Leave irrational answers in radical form.
4. 10x + 4 = 6x?
5. x2+x—-20=0
6. 4x?=4—x
7. 9x24+3x—-2=0
8. 14x + 3 = —8x?

9. x*+3x+1=0



